( 04):
MeV
E = Am.c’ :

Am=Z.m,+ (A - Z).m, —m( 2 X)

1127

Am = 53.1,00727 + (127-53).1,00866 — 126,8754
Am=1,15128 u=1,15128x931,5=1072,42MeV/c’

E;=1072,42 MeV :
1131

Am = 53.1,00727 + (131-53).1,00866 — 130,877
Am=1,18432 u=1,18432x931,5=1103,19MeV/c’

E1=1103,19 MeV :

Ea = El/A :
127
Ea =1072,42/127 = 8,44 MeV/ nucleon
1131
EA=1103,19/131 = 8,42 MeV/ nucleon
127 Ex
( 006):
(1)
(CH3)3C-C1 + H,O — (CH3)3C-OH + (H+(aq) + Cl_(aq))
(mol) x (mol)
0 no(A) no(HH =0 no(C1N =0
X ng—Xx X X
Xmax XO- Xmax Xmax Xmax
t=0 o=0
[CIT [H] MCl) MH) .
o =MH").[H]+ACI).[CIT] : CIl H: c=Xh[X{]:
‘o =[A(H")+ A(CI )2
\Y;
[H*]z[CI]zé : n(HY =n(I) =x :
X X X
=AH").=+ACI).==[A(H)+ACI)].= :
0()V()V[()()]V
Xf
\Y
x = Im¥ . G _[A(HY)+A(CI )] e 4
[A(H™)+ A(CI7)] \Y;
-6 -2 -6
_300.10°/107 x82.10° _ 577,10~ mol -

x(t) so(t) 4= s o =kx : 4

. (76,3 +349,8).107*]
: x(t) o(t)




i
t12,=60s G = Omax/2 X =Xmax/2 tip=t:
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250

200
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100 ! (2)

L 4

SOJ ! t(S)
O t1/2 :6'0 S I I I I I
0 100 200 300 400 500
o =1(t) 7
( 05):
: A
1.1
2H202 — 2H20 + 02
X (mol)
(mol)
0 Ilo(HzOz) Il()(Oz) =0
X Ilo(HzOz) —2x X
Xmax nO(H202) - 2Xmax Xmax
. l’l(Hzoz) X 2.1
n,(H -n(H
X = 0( 202 )2 ( 202) . 1’1(H202) = Il()(HzOz) —2X :
: .1.3.1
( ) : .2.3.1
: 2
: 1.2
.100 mL 10 mL SmL
: 2.2
2 x(MnOy4 + 8H" +5¢— Mn*" + 4H,0) :
5%(Hy0,— O, +2H +2¢7) :
2MnOy4 + 5H,0, + 6H" — 2Mn*" + 50, + 8H,0 :
: 2.2



_1d[H,0,] .

= 3.2
2 dt
1=[H202]0_[H202] . X:no(Hzoz)_n(Hzoz) 91
\Y 2 2 '
X
= E V= l% :
at Vo dt
:_ld[Hzoz] . V:d([Hzoz]o_[Hzoz]/2:O_ld[Hzoz] :
2 dt at 2 dt
: 4.2
b A A A d[H,0,]
[H20:]o 44 S v dt
R [H207](mol LSS
HE Ctip 5.2
(1) emiall X
:[HZOZ]:ﬂ : t=tipn .6.2
[H20,]0/24:4 H,0,
t=ti n(H,0,) =0
n(H,0,) = ng(H,0,)/2 :
NS Y
' [H,0,1= [H22b
] 2
St(min) -t
. Lo tip= 13,25 min
ti,=13,25 min .
d.101
o
2.1.1
Ny U —5Th+,He
6.10° 1 A=234  238=A+4:
Z=90": 92=7Z+2
No(0) =5 . 107 B ZTh—2%pPa+ e 2.1
N BUEPb+xle+yiHe : B «a 3.1
4 10" 238 =206 +x.0 + 4y :
\ y=(238-206)/4=8 :
o \\ 92=82+x.(-1)+28:
' N x=6:
/104' M P 8oa ¢ .
’ N : .2
Nuy(0)/2=2,5.10" _ SN Ny(0) d1.1.2
1.10" L Nuy(0)=5.10"% noyaux : Ny = f(t)
T St 2.1.2
0
A=1In2/t1p: A 3.1.2

Ty = 4,5.109 années

A=1n2/4,5.10° = 1,54.10'" année™!



NU(O) t NU(t) 3.1.2

Nu(t) = Ny(0).e™

NU(O) NPb(tTerre) NU(tTerre) 1.2.2
+

+

Nu(0) = Nuy(trere) + Npp(trerre)

: 2.2.2

Nu(trerre) = Nu(0) — Npp(trerre) = 5.10'2 = 2,5.10'* = 2,5.10"* noyaux = Ny(0)/2
tTerre = t1p = 4,5.109 années .

45.10°

rechid_yacine@yahoo.fr



yacine
Zone de texte
rechid_yacine@yahoo.fr




